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strings containg both 00 and 11
product construction

Given Ma Qe Sa Ay 81 and M2 Qesa A Sa

Define M Q s A S as follows

Q QI X Q2 Cpg IpeQ andgeQ
S Sa S
A Pig I PEA IlanIllae Az

8 p.gl a S1 p a Sela a

Theorem LCM L MI A L Ma























































































Kylar 8 Ipa w s p w St a w

for all peQz.geQ we

Proof Let pig be arb states
w be arb string

Assume fo all strings x shorter than u

for all states p'eQs and g eQe
Ipig's x 8 1,5 7,8 19 y

There are two cases

W E
ftp.qlw 8 Ipa E WE

pig bydef St
step a SE a.e defSt

ftp.w SE a.w Cue

WIE a w ax for some at E and XE

ftp.alw Cpa ax Lw ax

S 8 pig a x def 8 7
Sepia Saga x defSI

IS Salpa x Sf Slap IH

Step ax St ax deff 8
ftp.w SE a.w C ax

D
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0.1 automatic then

ULT't
Linh
La Le
Latz
LI 2 141
are all antigatie























































































p and q are distinguishable
For some string w S pin EA and8 19 u 4A

or vice versa

I s
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